%00 %8'5C %R°LS %b 91 JIERIET |
81 0 3 VL 1T 1810L
%6’ < 0 4 I T MO/ UOADE))
%00 0 0 0 0 0 95pry e
%070 0 0 0 0 0 sAemne]
%t'T £ 0 I T 0 o sa[seyq
%9 8 0 I £ ¥ MOTA AJ[EA
Yl't L4 0 £ I 0 ERVNENY
%9°S1 4 0 £ Ll 0 SMOpEaJA JsUEE L
%561 4 0 14 91 S aTe|[IA JSHEWE],
%l'v 9 0 [ 14 ! AL MOT[TA
%80 [ 0 0 0 1 JATISIY oYL,
%6’ S 0 (4 0 £ Yoo1)) uawapieg
%86t IS 0 91 0g [ oIy JUSUNUOA]
SUOIJE{OI A Te10], SNOIUR[[2ISIIA] sunjiey  Ajodolg Jo uu) YS6A], IE[[IA
810 Jo IUWBTAUIRA]
I8BIUddIDg

L10Z - 1sn8ny / 310doy HONB[OIA JUBUIACY



